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  
:محمد بنعدي  اع الحنصالي ازیلال  من اعداد

1
  













 



1
3

V S h

 
2خ

 
 خ 









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خ 




1
3

V S h

 خ

 
1 2
3

V R h  


خ

5cm



O 3cm
 .



AB

2 x x r = 2 x x 3 = 6=AB

s5cm2 x x 5 = 10 .


 360 ASB
 10 6

ASB = 6x 360 : 10= 216°.



O

S

B

A

5cm

3cm

216°
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3




   







 

1,5cm

3cm

2,5cm








V S h 
 



یساوي حجم الموشور القائم
الارتفاع مساحة القاعدة 
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 
V 

b x h : 2 = 3 x 1,2 : 2 = 1,8 cm2  
 b h 
5cm 

. 
V =x H = 1,8 x 5 = 9 cm3

4



.



 


    

:
       


2cm

:
2 x x r 2 x 3,14 x 2 12,56cm

4cm

12,56cm
2cm

 


3cm

5cm
1,2cm

2cm
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   
4 cm  2 x x 2  

2cm

4cm

L x l = 4 x 2 x x 2 50,24 cm2 





V S h 
 

2V R h   





2cm




4cm

 x r2 = x 2212,56 cm2
 x H 12,56 x 4 50,24 cm3
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